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B 7 TH BE |2 BEERBEA |3 BHEH EE | ¢4 WT X2 |5 BB DB |6 B & |7 B8 B |8 WK F2
50m mE T 2| T 2| EBHH 2(HOEF i1 [B&F 2| PR 2| K& 1 |EAMES i
AEH 27.53 28.39 28.77 29.55 30.35 30.40 31.08 31.43
S 7 BERXA |2 BE EE |32 BB DB |4 WK TR |5 BERXER |6 HEB BE |7 /ME 2EFE| ¢ HIKE BRA
100m |HEES 2| RATH th2[B& T 2 |[ERMES  &i|HAS 1| K&t 2|4 HG th2|{fe 2
1:02.41 1:03.39 1:05.57 1:09.59 1:10.17 1:10.26 1:10.91 1:11.90
B 1 ORERE K BAR FB |3 WH SR |4 HRKEM| 5 B BEX |6 BH BE |7 KE EE|s #Il XET
200m | RET 2| RIEH o1 | TRE RS 1| RIEH th2|AER o1 IR 1 |EERdL 2| EBHH 2
2:16.57 2:16.59 2:18.71 2:24.98 2:27.62 2:29.30 2:30.01 2:32.00
B s 7 ORRE FW |2 kL ES |3 BRRKDE |4 K EM| 5 BABR |6 BH EBE |7 M XF | 8 MWMAIIA
400m | RIES 2| REHESH h2|EElRdtF 1| RIEF th2|arEf s 1 [iTiE T hi|RBHH 2| LETERG fi
4:53.21 4:54.07 4:54.66 4:54.82 5:08.59 5:12.13 5:15.12 5:37.54
tess 7 O MEB 99 |2 ME XE |3 b Fik| 4 s XKk |5 BH EW | s MR EE| 7 BE B | 8 BHF KE
50m e 2| EAREF & |[iEEF 1| =FF thi|REF i1 |BEF b1 | BfEES 1| K%t &2
33.15 33.95 3457 34.58 35.32 35.45 35.54 36.87
7 TH ¥ |2 %SH BR |3 tEt Fik |4 WE XF| 5 BH #W 7 BE BEx | ¢ BH BKE
R 2| K& h2 |TRE 1| EARREF i |REF =51 BEfEs th1| K& 2
EHXkE | KEHF | 1.06.13 1:12.68 1:14.05 1:14.29 1:16.51 1:17.68 1:22.21
100m 5 2L =
FiReF B2
1:16.51
T 7WE B | 2 WTF RE |3 ZHB K| ¢4 =S RER |5 HR EE |6 EXHFNE| 7 ¥FH t¥ | 8 KO #£8
s5om  |Z=HATH th2| AT &R th2|ERFEH tho| e 1| ZEAZXFH i i TiRF B |FmRAF 1 |BFHIRD 2
A= 35.27 37.90 40.83 41.05 41.08 4227 42.73 42.79
T 7T BB |2 BT R4 |3 WT X | ¢ = #HE |5 AQ FB |6 AR Mk | 7 KO &#8F | 8 R FE
100m |ZHETH 2 (HOEF th1|ATER R th2 | h1|OEF i |HAH 2| RENIEF 2 |iRERP 1
1:18.79 1:24.10 1:24.44 1:29.50 1:31.82 1:32.43 1:33.19 1:37.57
a5 | 1 BE B | 2 2R BB |3 AT RA |4 EEHAEF |5 BY BB | 6 PE XK | 7 BR FE | s EA ER
50m XEHH 2| Z2HTH th2|ND;E L H H1 | 2T th2|FIER AR thi| =3 th|fEARH h2|HOF 1
31.16 31.74 32.09 32.56 32.81 32.86 33.04 34.08
Naos54 | ! TH Y| 2 dul &S | 3 KB & | ¢ EH EW | 5 kG#HcE | 6 HE FTE | 7 £ZR EMW | 8 KXE EE
100m |BEH f2|[EEHESH f2|5EdtF 2| XEF th2 |ZETH H2|fE AR th2 |ZETH th2 | REH F1
1:06.12 1:07.70 1:09.67 1:10.33 1:12.75 1:13.28 1:13.60 1:17.33
BEIARL— | FH BER |2 BAFHR|3 WHSE |4 BRERLDE |5 Hbh KE |6 RFRE XA |7 WE £E | ¢ X ZBE
200m | XFH th2|&iEF H1 | TRERF 1 |SEEdtg oh1|aER e 1[ND;EIL A i |8BEF 1| KEH $1
2:31.94 2:32.08 2:37.91 2:39.27 2:42.82 2:44.03 2:44.47 2:49.42
7 RiEH 2 KEh 3 REe 4 EHAWH | 5 2T 6 FOd 7 Kigeh 8  NDFLH
I £R X HH EX AHENE I RE 2R &W A HBxR CIERESY A Ex
JL— B 5 = = —HE % BR L WE BEHR BRHE K BTN E FE ¥
4x50m BAR T HiB BR L 2= EE Al R’ OHER BX BEE naEoh A #E
A ER &l B EH ZEMW 2w 2 EhBERE AR I WF =4 F¥ %A
2:01.93 2:03.54 2:09.85 2:10.89 2:10.92 2:12.24 2:13.83 2:13.95
(F—kE) 29.23 29.90 34.40 31.83 30.27 34.31 32.80 33.31
7 RiEH 2 K 3 ZHTep 4 EHBAWH | 5 NDEDLHF | 6 FOd 7 Kigeh 8 A &R
ARL— £F X A =82 2R &W AL BEE FE ¥ =8 BEX W+ =4 Hrp e
JL— BR =tk EH EX s B Il RE BRE BHE AR i naEoH» W ¥R
4x50m AR EM BH AW ELHAE feim ER F¥ %A BX BEE CIERESY 2h BR
Bl 5% ats B B OBER BE A FH BEx BRHA X B THARE AR fEBE
2:14.03 2:15.26 2:19.67 2:27.75 2:30.32 2:30.46 2:32.05 2:35.30
(F—kE) 33.45 36.14 33.78 42.07 42.38 40.05 38.55 35.54
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B 2 185l BE | 3 uA¥F AKX NR &2 | 5 FL BEL |6 NE B ER &A X
50m HEMES d2|AATEFT  S2|EEHAth 2| EEAESH di2|KFf #2 th2 1
27.70 27.76 28.01 28.36 28.48 28.49 28.88
B 2 i EA FE K St RE | 5 KH B | 6 AH EKX Bh K =X
100m |GEWEFR  f2|&iEH 1 1 2| K Er B | =3 F2 aal 2
1:03.38 1:03.77 1:04.42 1:04.62 1:05.51 1:05.91 1:05.95
B 2 HB BA ZE K& BEHERR| 5 ER A | 6 TR BY AME HF T H BE
200m FaH 12 B 1| AT ER Ho| EAMES 2|3 2 2
2:13.21 2:13.51 2:15.51 2:18.78 2:19.79 2:20.60 2:21.15
. 2 RE KE FB BA BEHERK| 5 #%iE BA| 6 TH BE IWE #E HF X
s00m |LEHETS  2|BES 1 Hh2 1| RIEF i |LEHIER &2 i1 =)
4:37.60 4:43.29 4:44.36 4:55.04 5:04.88 5:08.20 5:24.87
o 2 Ei B %= MR B |5 RET WK | 6 EN ELC A0 @ ER B
50m |BATEFT  cho|fiRH H1 H1 th2| 2 t2 (A Efch #2 B 1
33.09 33.32 34.82 35.17 35.22 36.34 36.85
T 2 W BhE | 3 FEHE Eth NR B8R |5 HFAX %K | 6 HNE &FF B A& X
100m |EBTWEF  f2(RFH 1 i |EEHEILF 2| REH rh2 | ZET 2|2 i1 1
1:09.61 1:11.56 1:13.28 1:13.31 1:15.26 1:16.09 1:16.58
2 RBEEE| 3 BEREEH ¥ 6 BHEE ®H BB A0 ik
HEMEF  d2|aEF F1 2 2 FamP 2 $1 F1
EixkE 33.81 34.15 34.19 39.51 39.53 40.22
50m MR EE
1
34.19
T 2 KBEEE IR AKX E | 5 BEARE| 6 Wik BE KE B3t A0 ik
100m |GEWET  d2|ATEF sl 2 2| EBAHH 2| XEF F1 2 F1
1:12.43 1:12.90 1:13.18 1:15.85 1:16.47 1:24.12 1:25.09
NETS4 2 % EiK | 3 F/WL BED R |5 WT #%8 | 6 RE [EE INR B =& 1R
som |GEWILS 2| HEWET  G2|REGESH f2 | RiEh 1 |[LERESH do|REHEP  t2 th2
28.54 29.46 30.12 31.00 31.44 31.55 32.09
NETSA 2 HMA FR [RE B EBH RK | 5 WWT #58 | 6 WBI5 [EE BE BA =/ w3
100m LEESHAH  d2|[REHEF  H2 th2| Rk 1 |[EEEESH 2 B H1
5 1:00.86 1:07.51 1:09.82 1:10.43 1:12.55 1:12.82 1:12.96
B ARL— 2 K& BM ) B | 5 TAK Bl |6 EH ERK TH BE INR B
200m Zks ho|[LESHER 2 HP1|EETHER  G2|4BH H2 H2 H2
2:23.05 2:30.71 2:30.81 2:32.78 2:34.44 2:35.69 2:40.64
2 HBEWEH —%Ed Gk 5 REFh 6 IEBWiH 2B HAETMH
= A B MAFEN Bl EE Zim BA BE FHR AB 2 BIER
JL— WA B R ER &A KEF B R B8 MK BE BAR K
4x50m B35l A% WE EE AKBEEE P NELE e BE B aA K
SE K A EK A& X ne B RE BEX AME HFH A0 W@
1:50.23 1:54.37 1:56.91 1:58.29 1:59.84 2:02.45 2:03.03
(F—k&) 27.68 25.40 29.73 28.91 26.82 30.81 29.42
2 RiEh AT &R R ZFdh 5 KB 6 HEATH HEH 2R
ARL— EH BA KB X A K [ Ef A0 i@ ®BE B
YL— LR BAA ABFEEE MAFEN Rk B BERRE bR MR KE
4x50m ILT #5E ER &A ®= iR BA aH K Bk AHE 2
XE &M il BT N ne B BAR K EX AME HH
2:07.92 2:08.19 2:11.69 2:14.42 2:17.56 2:18.83 2:18.86
(E—k#E) 36.55 34.83 36.46 38.94 36.94 34.95 35.89




